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APRIL 2017 60112/BTZ2B/ 4. Fill up the gaps of the following series in

geometric progression : 7
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5. Find the 6th term of an AP whose first term and
last term are 34 and 48.

PART A — (10 x 2 = 20 marks) Gse epoy 34 gsab Qod epiy 48 gsab
v 2 6em (m Sal L6 Cunsdlen 6eug) 2 milienué sem(H .
Answer any TEN questions.

, 6. Evaluate _..xuam.
Find the equation of the straight line passing

Sﬁocmw ﬁ.ﬁ vowbﬂ AI .w, Hv mumwowwmb&oﬁmwwo _..&Lw -%S%D _9 @.
the line 5x -2y +7=0. : ,

AI 3, _C er@nd yerefl euflwurseydb 5x—2y+7 =0 7. Integrate 3x® with respectto x .
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mmb.m ‘a’ R go. mwmwmbom between the points AQ, Nv 8. Find f Amv. when f vau 4, f @vu 13, f Amvu 43.
and (3,4)is V8. - f(3)=4, f (4)=13, lau,& <5 o et QUITES)
AP Nv LHMILD Aw..n»v eyt yereflsEnsden Guwimen : \Amv-% wélieud sem (.

g V8 aehes ' -an il e (il 9. Iff6 5]+ [a bl=[6 5], find the value of a +b.

Find the sum of the i : : . . . .
79470+ 68+ .. +40. Setes [6 .m_+~a bl=[6 5] eeflé> a+b-an wéliemus
w— ST
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x y 0 . PART B — (5 x 5 = 25 marks
H;nﬁ uT_awnT %m&m&. A V
0.0 -% 0 Answer any FIVE questions.

x Y =z 'y 0 5 . 13. Find the value of ‘a’ so that the lines 4x+5y =13
= T L B ﬁ. % oH_ e 3x+7y=13 and 4x + ay =13 may meet at point.
AB eowis snes. : 4x+5y=13, 3x+7y=13 wpmb 4x+ay=13
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1 2 3 e AL STeE. | ,
If A=|3 1 4/, check whether it is a singular 14. A firm produces 1000 sets of T.V. during its first
2 4 6 year. The total sets produced at the end of 5 years
is 7000. Estimate the annual rate of inérease in
or non-singular matrix. production, if the increase in each year is uniform.
@@ Hpeuand iser 1psod <pamge 1000 T.V. samer
IR 2 pusd Celdlng. ghsrag e QnEuie
A=[3 1 4| aaile® <5 @B enew Selur e pugd Genwiiu’ e Qurgg T.V. safler cramarflsams
2 4 6l 7000. @euQeurp yewrgenr o HUSH o wiey &Fons
Qméen ol war® 2Husd swiey eissms
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: - ! . e 15. Three numbers, whose sum is 18 are in A.P. If 2,
Find the ratio in which the point (1, 3) divides the 4, 11 are added to them respectively the resulting

join of AA, mv and va mv. numbers are in GP. Determine the numbers. |,

’ , . sl (S dzmens 18 uasaerer epem eremaeT mw_.r_la.c
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16. " Integrate ‘:,xl
X oL e QsreL i .:x - mvw dx -g Agransd.

17. The following table gives the normal weight of a
baby during the six months of life.

Ageinmonths: 0 2 3 5 6

Weightinlbs.: 5 7 8 10 12 o
Find the weight of the baby Srmb she was .
»Bobnrm old.

599@.6 3L cuehenT (1 @GLpbenguden m _b:.& SHMTEV
Queuren erenLews STOEDS).

awg wrghgaio: 0 2 3 &5 6
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22. Integrate: |mx|
Axw+mvm
61>
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23. From the following data estimate the number of
. person earning between Rs. 60 and 70 per day.

Wages (Rs.): 0-40 40-60 60-80 80-100 100-120
No. of persons
(in ‘000) : 250 120 100 70 50

Gemeu(mid eflurhisaiielphal BreT @emmsEs . 60 s
. 70 eueny sUTHEGL BHuisailen ereamanismaeai

wHOE Q.
el (65.) : 0-40 40-60 60-80 80-100 100-120
[pUEeT A [
argnanfisems 250 120 100 70 50
(puiprigeflev) : <
3 x
3
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va dx with respect to x . 19.

Evaluate [(5-4x 2% +22°)dx.
B%Q@@ .,_.Amlﬁalxm+wawv&x.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

It costs a firm Rs. 2,500 to process 400 orders and
Rs. 3,000 to process 500 orders. Determine the
linear equation between processing cost and order
quantity and find the cost of processing 600
orders.

20 Bneeagdld 400 elpuaman yamamsamar Hapey
e . 2,500-b 500 efpLienear yeameansamer Henmay
Gelw @ 3 oooGo_b Qeweurdlng). Ceewey LHOHILD
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